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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-I11 Examination, 2020

SOCIOLOGY
PAPER-SOCA-VII
Time Allotted: 2 Hours Full Marks: 50
Thefiguresin the margin indicate full marks. efifer T FGZ TG 2T o T 1
Candidates should answer in their own words AN [ACGH G T ET TN T
and adhere to the word limit as practicable. e FRE |

Answer either from GROUP-A OR from GROUP-B
GROUP-A
et-5

1 Answer any one question from the following: (within 1000 words) 12x1 =12
faferie Q- @F T @esm Tea wies (000 *ITHa )

(8 Discussthe causes of unemployment in India. 12
SO ([FACRI FITEPTIR NG!S
(b) Write anote on caste and politicsin India. 12

TICO T (R AGTAMSF &G G B G|

2. Answer any two questions from the following: (within 400 words) 5%x2 =10
frafefe @- it 7fo aiess $ea wies (800 *Itwa W4y)

(8) Write ashort note on poverty in India.
Sl i §7 @i ke Bl @l

(b) Briefly discuss the process of secularization in India.
RICe fRcerFel elfEif Fewee S T

(c) What is meant by White Collar Crime?
Y @A Bl FETCS F @I 2

(d) Briefly reflect upon the problem of corruptionin India.
SRS QBB TR TR 2T SR |
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3.

GROUP-B
fTeia-4

Answer any one question from the following: (within 1000 words)
TS @-I 9FMF 2007 T 716 (5000 *(HA W)

(a) Discussthe process of privatization of education in India.
ORI PR R elf @i SN Fe |

(b) Writeanoteon joint family in India

TiRCed (A1 AT ToF @ i el

Answer any two questions from the following: (within 400 words)
ferafere @-CFical 7o @ess Ted wiss (800 =Tl ()
(&) Write ashort note on illiteracy in India
SR frmaer Boig 3 W FRY Bt @Tea
(b) Briefly discuss the economy of marriage in India.
Sl RAIted SRS TRl S S
(c) Differentiate between homosexua and heterosexual union.
TP @R RIS e #fiefes e e
(d) Briefly reflect upon the changing prioritiesin marriage.
fRalceR ~RRS e SelfmRTR HCHCe! el e

Answer either from GROUP-C OR from GROUP-D

GROUP-C
faotat-at
Answer any one question from the following: (within 12000 words)
TS @-CIeT @15 eleim Ted s (Sooo = W)
(a) Discuss the scope of rural employment in India.
SROICY &lfilel FPRBICT CFITIR SN T |
(b) Write anote on environmental pollution in India.
SReICY #Ifita wEeeR $oiF @3 Bl et

Answer any two questions from the following: (within 400 words)
e @-cieat 7o eltaia T niss (800 *ITwd SIC))
(a) Briefly discuss the changing pattern of agriculturein India.
(b) Distinguish between growth and development.
e @ acaa Sy 2Nl et e
(c) Briefly discuss the problems of urban slums.
IRCRA T AN FRCFC SICTID! FCA |
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(d) Briefly reflect upon land alienation as a major problem faced by the tribals in
India

wiRCed Soreniforma o Sroara Temife FEwCe! s S

GROUP-D
Retet-g

7. Answer any one question from the following: (within 12000 words) 12x1 =12
fafere Q- @0 @esw Tex wies (5000 *ITHa )
(&) Write anote on the problem of prostitution in India. 12
wfare vfewigies mTiba Sok aafo Bl el
(b) Discuss the causes of drug addiction in India. 12
ST MHH(G TR HCAA! FCl |

8. Answer any two questions from the following: (within 400 words) 5x2 =10

fesfeiie @-Piea 7 @it Tea mies (oo *Itwe Wex)

(&) Write a short note on the issue of pornography.
st Jaafa Soim «aft wFEFe B @t

(b) Briefly discuss the causes of suicide among young adults.
RIS FRIR T AR PRI TR S Tl

(c) Briefly discuss the measures to tackle cyber crime.
&R Sty elfsries [fen S FEwce SeEs=l S|

(d) Suggest, briefly, some remedial measures for the problem of suicide among the
aged.

GROUP-E
Teia-e

0. Answer any three questions from the following: (within 100 words) 2x3=6

feafere @-Cical feaft aitsm Tea wiss (Soo *ITwa Say)

(8 What is meant by displacement?
B 0 fF e 9

(b) What is meant by hacking?
Z7if FeTCe 1 QTN 9

() What is meant by parallel economy?
TS SIS e [ @I 9

(d) Define nuclear family.
G AN RS WG |
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() What do you mean by pornography?
AN FeTce & @it 9

(f) Mention any two characteristics of tribe.
Trreiior @ Gical fo tafiEy Soed el

(g9) What is meant by labour intensive technology?
=5 i ergfe 2@ie & @Il 2

(h) Mention two reasons responsible for the fragmentation of family.
AR SIS T3 0 FFel S IR |

(i) Mention two important amenitiesfor lifein rura India.
alfSel Srce R b Jeame FRal S |

(1) What is meant by communalism?

Aremifteet Ie70e F Q@I 2
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